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Read the fo]lowmg instructions carefully before you open

PART -1: MENTAL ABILITY TEST
(For Student of Class VIII)

INSTRUCTIONS TO CANDIDATES

the Question Booklet.

1.

Answers are to be glven on the same OMR Answer
Sheet.

There are 90 questions in this booklet. All are
compulsory.

Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet.
Do not mark’v” or ‘X’ in the OMR sheet.

Since the time allotted for this Question Paper is véry
limited you should make the best use of it by not
spending too much time on any one question.

. If you do not know the answer to any question, do not
‘waste time on it and pass on to the next one. If time

permits, you can come back to the questions, which you
have left in the first instance and attempt them.

Rough work can be done anywhere in the Question

‘Booklet but not in the OMR Sheet/loose paper.

. Each correctanswer will be awarded one mark.

Please return the OMR Answer Sheet only to the
invigilator after the test. Candidates can retain the
Question Booklet.

Quote the seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
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MENTAL ABILITY TEST/wengdlpesr Csitey

Direction (Q. No. 1 to 11) :

In each series, the alphanumericals are following

certain rule or pattern.

Find the next term for the following series.

1. 3,55,19,7,41,9,
1) 71 (2)
@) 79 (4)

2. 125, 80, 45, 20, 5,

1) 1 (2)
G -3 4)

3. 8, 15,28,.53, 102,
(1) 204 @)
3) 195 4)

4. 2,2,3,4,5,6,7 8, 11, 10,
(1) 12 (2
(3) 13 (4)

5. 3,7 13 21, 31,

(1) 34 2

(3) 42 (4)

6- A/ B/ CI E/ H/ M,

1) s (2)

G U @

7. BAT, DCV, FEX,

(1) HGI )

() HI 4)

61
69

-10

199

189

o]

37
43

HGZ
HGY

auflapenp (eSlew etedsr 1 (1pa60 11 euemr) :
Epsaramib Qsrisalle eramCeant(psssEsae
@ SOG4 emwinleriig cuflenais-
LhSSLILIL (HeTerg).

Qemeupd Qgrii euflengufled SiHSg eu(mHLD

2 miliend SerTLHlule|Lb.

1. 3,5,5,19,7, 41,9, /
71 @ 61 .
/79 @) 69
2. 125, 80, 45, 20, 5,
1 1 @;0
@) -5 4 -10
3. 8,15, 28,53 102, .
1) 204 @/ 199
B) 195 4) 189
4. 2,2,3,4,5,6,7, 8, 11, 10,
1 12 @ 9
@/13 | @) 14
5. 3,7 13,21, 31,
1 34 @ 37
3) 42 (@
6. A, B CE HM, .
1) s @ R
U @ Vv
7. BAT, DCV, FEX, .
(1) HGI 7 HGZ
) HI 4) HGY



|CODE]VHII 1|24 ]

8. 12,9,5,0, . 8. 12,9,5,0, :
1) -5 2) -4 1) -5 @ -4
3 -6 4 -8 /@ 6 @ -8
9. C4X, F9U, I16R, . 9. C4X, F9U, I16R, .
(1) K25P (2) L25P (1) K25P (2) L25P
(3) L250 (4) L27P /@ L250 (4) L27P
10. Z, L XJ,V,HTF, . 10. Z L XJ,V,HTF
1) A 2 R - 1) A /@ R
@ C @ 7 3 C @ 7
11. AB 2, EF 30, IJ 90, OP 240, .- |11. AB2, EF 30, J 90, OP 240,
1) TU 720 (2) UV 480 1) TU 720 (2) UV 480
(3) VW 368 @) UV 462 (3) VW 368 / UV 462
Direction (Q. No. 12 to 14) : | auflapenm (sflem etevar 12 (&0 14 euemny) :
Find the missing number in the following : GemeimeuareupPled aNHULL 6T amTen s
SEHTLMWE|LD.
12. - | 12. '
4|11 4|1
5/11(27\8 5/1(27\8
o\2[6a)7 | - \ 2\ 7 [64/7
8|3 : 813
1) 125 @) 216 1 @ 125 /@ 216
(3) 1000 4) 343 (3) 1000 (4) 343
13. 13.
7 15\ 20 7 15 20
[9] (6] (9] (6]
8] [10] L[] y 8] [10] [7]
1 11 2 12 /@ 1 @ 12
@) 13 4) 15 @) 13 » 4) 15



14.

) @

OO N
OR0I001080

(1) -—46 2) 0

(3 -32 4) 26 ‘

~ Direction (Q. No. 15 to 17) :

- Find out the wrong term in the following series.

15. (1)

Fry (2) Boail
(3) Peel (4) Bake
16. (1) Zebra (2 Horse
(3) Tiger (4) Lion
17. (1) Tennis (2) Soccer

(3) Billiards (4) Cricket
‘Direction (Q. No. 18 and 19) :

There is some vrelationship between two given
words/ letter/numbers before “ : : ” symbol. Find
the other one from the given alternatives having
the similar relationship.

18. 8:63::12: .
(1) 168 (2). 121
. (3) 143 4 132
19. Shout : Whisper : : Strike :
- (1) Anger (2) Kick
(3) Kil - (4) Touch

[CODE|{vII| 1] 24 |

1) -—46 /@ 0
(B) -32 4) 26

aufi(enp (eSlestm 61evor 15 (PS5O 17 6u6wY) :
IS]GE;IQJ@Lb QsrLi euflengulies geupmer
2 miienUd SHerTL_Hiule]Lw. _

Boil

15. (1) Fry @
/@ Peel (4) Bake
16. (1) Zebra /@ Horse
/ (3) Tiger (4) Lion
17. (1) Tennis (2) Soccer
/@ Billiards (4) Cricket

m@@mm(sﬁlmn eT6veT 18 LOMHMILD 19) :

Yo7 erenp GOULYHE e 2-ater Qran®
aurirges | s | Tans@ErsdaLCw
gCaaydb @ QgrLiy odeag. NCs
QarLmder ojqLliuemLuled QarGssiiul
Qsfeygeafiiallmbgy wHOprenerps Cgirp-

QFHEHaLD.
18. 8:63::12: :
| @ 18 @ 121
/@ 143 4 132
19. Shout : Whisper : : Strike :
(1) Anger- (2 Kick
(3) Kill /@ Touch
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Direction (Q. No. 20 to 24) =
The diagrams show some relationship among the
three items given. From the given diagrams A, B,
C, D and E, select the correct diagram that
- corresponds to each question.

O % €9
@ ©

20. Plants, Animals, Men
m c
3G A

@ B
4 D

21. Mothefs, Doctors, Women

1) D @ A
3 C 4 B
22. Minutes, Days, Months
(1) E 2 D
@ B 4 A
23. Star, Sun, Moon
1 A (2 B
@) C 4 D
24. Whales, Fish, Crocodiles ‘ _
1 A (2) B
3 E 4 D

auflapenp (elew e16var 20 (1S 24 EuEHY) :
QarHé&siul_(Herer LILBIGET geubeumammLd

| operm e pliysEREG QeLGu e drer

QgrLiewus sri(daper. gaCeur
emrelip@d QsrLyenLws sllwrer UL Smg
Qerhsslu_@Herer- A, B, C, D wpmd
E uLsefledmbg CaibosHhdseb.

O 5 €9
@ ©

20. Plants, Animals, Men
1 C (2 B
e @ A @4 D

1. Mothers, Doctors, Women
/8 ‘ :

22.

o

Minutes, Days, Months

/@ E 2 D
@G B “4) A

‘23. Star, Sun( Moon
A A ® B
@ C 4 D

24. Whales, Fish, Crocodil
1 A v’ B

(3) E 4 D



25.

26.

27.

28.

29.

30.

If 2AB+AB1=B18, then A=___ )

B= S
1) 4,7 @ 7.4
@) 67 @ 7,6

-1f PEN =32, CHALK =30, then DESK =

(1) 34 | @) 35
3) 36 @) 39
If EXAMINATION = 24681365173, then
TIME = L
(1) 5182 )

5812
(3) 8521 (4) 6821
T T 7
/////

The number of parallelograms in the given
figure is :

(1 12 (@ 20

3 29 4) 30

The minimum number of straight lines
required to make the given figure is :

1) 15 @ 13

3y 12 4 14

Arrange the following words in a meaningful
- sequence.

(A) Consultation  (B) Illness

(C) Doctor

(D) Treatment
(E) Recovery ‘
@) B, (©, (A) D) E
@ (© (B, (A) D) E
@) (B, ©) B) (D) (4)
@ (&), (©), D) B) E)

[CODE [viii[ 1] 24 |

25. 2AB+ AB1=B18 eraflld, A=
B . o

) 4,7 @ 74

(3 67 (4) 7,6

26. PEN=32, CHALK=30 eraflé®v, DESK =

—_— 7

(1) 34 . /@ 35
(B) 36 4) 39

27. EXAMINATION =24681365173 erafle,
TIME = . v

Ve 5182 (2) 5812

(3) 8521 4) 6821

28. / / /
[ /S S S /

Qar@ssiul(Gerer UL SH o erer
Qaansrhsaien crararisans :-
1) 12 2) 20
B) 29 /@ 30 -
29. Qar@h&suulL ULSMNS IADES
- Geoaliu@®b GoppsuLs CBHis-
Casrsaflern cramanisans :

1 15 /@' 13

@) 12 4) 14

30. Gemeumbd a.lrrrrg,mg,a;mm emg,g,@crrsrr

QASrLyrE LIHOIS.
(A) Consultation  (B)
(C) Doctor
Recovery
4 & (B), () (A), (D), (E)
2 (© B) (A) D) E)
B (B)(©) (B), D) &)
@ @A) ©) (D), (B) €

Illness
(D) Treatment



[{CODE |{VII| I | 24 |

31.

32.

33.

@

Choose the correct alphabetical order of the
given words.

General (B)

(A) Gentle
(C) Gesture (D) Genuine
1) (A), (B) (©), (D)
2) (A), (B), (D) (©
3 (B) (A), (O, (D)

)

(D), (A), (B), (©)

If the letters of the word ARTICULATES can
be used as many times as one wants to use,
then which one of the following four words
cannot be formed ?

(1) ARTICLE @)
(3) . ELECTRIC  (4)

LATER
COURTS

Read the following clues carefully and find
the correct answer :
Clue : (i)
(i) 4t digit is odd and is less
than 3.

I am a 4 digit number.

(iii) 1%t digit is 5 more than the

4th digit

(iv) 2nd digit is even prime
number

(v)  Sum of first 3 digits is equal
to 12.

1) 6421 @) 6242
3) 6241 4) 6124

31.

(1)
@
©)

| _(4) (D), (A)., (B), (©)

32.

33.

1)
O

Qarh&siul_Herer gnifleo urrans-
saflenr = sfluren sy aflwsows
CaihblgHiésea|. |
(A) General (B)

(C) Gesture

(A), (B), (C), (D)
(A), (B), (D), (C)
(B), (A), (O), (D)

Gentle
(D) Genuine

ARTICULATES ereuigild eumrigeng-
WQIETaT eT(PSFIGHMET TSSME (P
Geuaimm(Romematd LIRSS 1etmeu(mLd
BTen(@, aumigengsefley erhg eumTGangenius
2 (HeUr&s @Quierg ?

(1) ARTICLE (2) LATER

(3) ELECTRIC ‘/@ COURTS

Yeraumd @GOLLS®ET SeuarorsLl
L &g sflwrer elenamwg Csis.
@MUY : (i) Brem @ 4 Qewss ere.
: (i) premsTEUG QEVEHLOTES
@herplumL  WHMILD
epenenm Al GDaey.
(i) (PBHD @VESLOTENF) [HiTewT-
&TeUG Q&S 6T GHTenamT
el 5 sm(hgem@h.
(iv) @rerLreug Qe&s-
wreng @rleliuemL
LIST GTEwT.
V) Q8D e Qadsi-
seflen smBsod 12 -b@é

&LOWOTGLD.
6421 (2) 6242
6241 4) 6124



34.

35.

36.

' (1) ISPRDE

If in a certain code language :

1729 =all probléms are serious,
4367 = men have many problems, -
1385 =some men are happy and

8069 =some have serious ailments,
then the code for “Serious men” is

1) 93 | @ 23

G) 13 @) 98

If KAVERI is coded as VBKISE, THANKS as
AITSLN, then SPIDER is coded as

(2) IQTRFE
3) IQSRFD (4) IPSRED

In a row of boys, A is 10" from the left and B
is 9t from the right. If they interchange their
positions, A becomes 15t from the left, then
how many boys are there in the row ?

1) 23 @) 31

@) 27 (4) 28

[CODE|vII|1| 24 |

3. om @GOG Comgude :
1729 =all problems are serious,
4367 =men have many problems,
1385 =some men are happy and

8069 =some have serious ailments erens
GDss UL LTe,
“Serious men” erenLGHET GOWIG :

'/@ 93 2) 23

@) 13 4) 98

35. KAVERI erenueng VBKISE eremawb,
THANKS ererueng AITSLN ereme|ld
GOssTe SPIDER erenuigen GOUI@ :

(1)
‘©

36. Smieuiger o 6TeT 6 aflesfe A
eraueum @LLO(BS 10 -eugl QL-SHIb
LOMD B eramueuir euadlmBg 9 -eugl
QLD 2 cTerant. @HEUHLD SHhIGET
QLsms @mbeanmsasTmair wrHHlé
QaramLgles A eremueuT QL OHHS
15 -eug QL&HO o2 dtermi  erafle,
auflenguiley erggenen SlmieuiaeT o aTemeot ?

/@ 23 2) 31

@) 27 4) 28

ISPRDE (2) IQTRFE

IQSRFD (4) IPSRED
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Direction (Q. No. 37 and 38) :

Study the following information carefully and
answer the questions.

(i) Six friends A, B, C, D, E and F are sitting at
equal distance from each other around a
circular table.

(i) A issitting two places right of B who is exactly
opposite to C.

(i)

C is on the immediate left of D who is exactly
opposite to E.

(iv)
37. The person sitting left of A is :
1) B _ (2) E
(3) F 4 C

F is also sitting at the table.

38. Clockwise order of sitting persons from D
is:
(1) DCAEBF (2) DFBEAC
(3) DCEBFA (4) DAFBEC

39. It was Sunday on Jan 1, 2006. What was the
day of the week on Jan 1, 2010 ?

(1) Thursday
@
(3) Friday

4) | Wednesday

Saturday

10

euflpenm (elestm etevr 37 OHMID 38) :

ECp Osr@ssuulBder sSHabE@maT

SIS
e weflG&sayLd.

Uiy S5 el & & (6 & (3
(i) ABCD,EwdmbdF o flu oym permiiger
aulg 646 Gsrenealle
DD B ETETETIT.

UL &LD
i) A ererumi B -&E @eUUSSWLTS
QreerLmil_SHlev ojwipgerermi. Cs
Grrsdled B eremunt C -&@ Cpir erdlyrns
DT HGIETETTIT.

C erarrun D -&@ @LLIL&SIONE SleUMTH
QsrLiibgl o erermi. Cgid E -&@ Cpi
erdlypms D 2 et

(@)

(iv)
37. A -am QLULSSD wibHmLiseur :
(1) B 4 @ E |

F eremieu(mld el L SHlev Diipgierarmi.

©®) F 4 C
3. D - Q@OHs s4sTr Howsuld
SlwrpgleTeneutsatien cuflens :
é @ DCAEBF (2) DFBEAC
(3) DCEBFA (4) DAFBEC

39. maveufl 1, 2006 Sjerm @HTUdDMSES PenLD
eraflev, gmemeuf 1, 2010 ey ereman
Sipenwo ?

1) aﬂu_lrrgpésaﬂlc.pmm

(2) saflsdlpenio
/@ QeuaTatl&dpenLo
(4) uygendlpeno



40.

41.

42.

43.

44.

)

@ 7

If the second and fourth Saturday and all
Sundays are holidays in a 30 days month
beginning on Saturday, then how many
working days are there in that month ?

20
23

21
22

(1) 2
)
In a group of cows and hens, if the number
of legs are 14 more than twice the number of

heads, then the number of cows are

1) 5 2 6
@) 10

If the digits of 237965320184 are rearranged

in ascending order, then how many digits will |

remain in the same position ?

1) 4
@) 2

2 3

4) 1

In an examination, a student scores 2 marks
for each correct answer and loses 1 mark for
each wrong answer. If he éttempts all the 50
questions and scores 55 marks, then the
number of questions he attempts incorrectly,
is:

20
25

15
28

@) (2)
(3) @

Find the missing letters.

abc __abc __bbca __ ¢ __ aaabc
1. 2
3) 4)

abca aabc

abbc abcc

[CODE[vII| 1] 24]

40. saflsdlipepwaws Gsram® QFTLkiEW
30 prisear Qarare @@m LIssHo
QrawLreugl, preansrelg seflsdlpeno
wLHHD Smads GTADnsEH oW
sEnd AP op rafld, bwrssso
TsFenen GeuanebrL &6 o eTerar ? ‘
(1) 20 @ 21
] 23 @) 22
41. ussasar wPHMD CarflaeaT o drer @
- Gpeer sresatien ecramaniiGamsiLiTeng),
genevaatien craeniidenaudlen @)m LOLEIenS
L 14 sfsd cafler ussseer
eTERTaRT&Ens
1 5 2 6
/@ 7 @) 10
237965320184 ergmilb erawmeniley o arer
aleurm Qesssmsub gneiflens
uded er(pFHIDCUITE eTHFME QO&HBIGET
Ber®n 2iCs QL sHed ey ?
1) 4 2 3
G) 2 / 1
@@ Csireiled, g WrewTeue geublem
sflurer elenLs@w 2 LT Es0D
LHMD eubeur  seuprer allenL&@GW
1 wHlQuargy b Qupdpri. el
Smardg 50 enrésHErdED eflenL -
wefgg) 55 HLQUETEET QLDDTT erefle,
sauprs dleoLwelss cNerrssafen

/Grcﬁarmﬂé;ma; L 5

20
25

APULL pssissmars CoibOsHE-

&@JLD.

42.

43,

15
28

44.

abc __abc __bbca __ ¢ __ aaabc

(1)
)

abca aabc

abbc abcc

@

11
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Direction (Q. No. 45 to 47) :

45. The following equation is incorrect due to
changes in signs. Find the correct order of
signs which make the equation correct.
5=15+9x84 .

1 x,+,= 2 +,x,+
(3  +=,x,+ 4) x,=,+

46. If '+’ stands for division '+’ stands for
multiplication, * X" stands for subtraction and
‘=’ stands for addition, which one of the
following is correct ? |
(1) 18+6—-7+5%x2=20
(@) 18+6+7x5-2=18
(3) 18x6+7+5-2=16
4) 18+6x7+5-2=22

47. If ‘p’ stands‘ for "—’, ‘q’ stands for ‘' +’,
‘v’ stands for ‘X’ and ‘s’ stands for ‘' +’,
then 18p4r6s2q3="7
1 6 @ 8
3 9 4) 10

48. 1If 16*9=12, 81¥49=63 and 25%16=20 then
36¥9=___ e :

(1) 16 (2 18
3 20 4) 24

49. If 1+2=3,2+4+3=17 and 2+4=32, then
3+4=
1 73 2 91
() 155 (4) 145

12

euPl(pemm (eSlewm 6T6voT 45 (LpSH6L 47 EUEDN).
45. @ASEseT  LIYUTH  STFE@TOTS
1Geseu(BLD FOETUIT(H SEUDTE GULPEISLI-
ULl (heTengy. Fwemum(h FRwWMs SenLou|b
GG saies  sflwmar
auflengerws CaibosHEsHe|w.
5=15+9x84
(3)

auen& Ul 6o

XI+I=

(2)
4

+,X,+

+,X,+ x/=1+‘

46. ‘+’ TG QUGS GT@TQYLD, ‘+ GTEILIF)
QuUBESHED eTemald, ‘X eranigl HLHSSHeH

s

’

Gremayid, WHMmD L eTETLg Sl L6

craned Q& meTL_meD, Geseu(meuen euhmieT

orgl Ftlwreng) ? '

(1) 18+6—7+5x2=20
18+6+7x5-2=18

3) 18X6+7+5-2=16

(4) 18+6x7+5-2=22

r 7
4

a7. P oereninigl ‘=7, ‘q eremuig ‘+’, ‘1’ ereTLIG)
BV LD[.DQ_I L'D 'ISI
18p4r6s2q3 =7

1) 6
/@ 9

48. 16*%*9=12, 81*%49=63 womidb 25%16=20

eravg -+’ eradflen,

8
10

2
4

erafler, 36¥9=__ :
1) 16 /@ 18
(B) 20 (4) 24
49. 1+2=3,2+3=17 wHmb 2+4=32 erafe,
3+4=
@ 73 @ 91
() 155 ' ‘/  145



Directions (Q. No. 50 to 54) :

From the given diagramatic representations answer

the questions. Triangle indicates factory workers

and circle indicates union members and square
indicates hardworkers.

50. Among the factory workers those who are
members of the union but not hardworking

are
1) g 2. f
G) d 4) b

51. Hardworking union members but not factory
workers are :
1) d
G) «

@ f

4) e

52. Factory workers who are neither union
members nor hard workers are :

@ d
4) a

I c
3) b

53. Among the factory workers who are

hardworking and also union members are :

() -\ f
4) b

Identify the union members who are neither

1) a
B c

54.
factory workers nor hard workers.

@ h
4) 4d

1 f
@) b

13
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auflepenp (efew etevor 50 (1pS60 54 6uen) :

Qar@ssiulBearer L e W&Carerd

QAsrpsrere umilwurerigeneru|b, eul L Lb

Qemfiheris o mlidearnisamenb, SSITD Hiqe
2 epliureTigeerud GH&Smg erafle,

Gemeumd efleméa@Ens@ ellenL wief&Esab.

50. Qsminsrene ueamilwrarisefiey GeminH

FBs e mUbderisenns QMBS &g

2_MIPLILITETT&SET NDOTSHEUTSET WImT ? |
8 @ f

3) d 4 b

51. Qg,rr@gj)&rrma) UenflImeTye)evTs Slg QDTS
2 np&@ELD, QsTfiDsms o mlileriser :

d 2 f

@) c @) e

52. SQ@TOTE 2 MmP&sETS, CsTHDERS
o pllergoers Qgmlbsrere Liewt-
WITETT&ET '
1) ¢ 2) d
@) b / a

53. Qsmfperere ueaflwrarisefiey Gsmn
ghg 2 puikbentseTTs QM&EGLLD SHig6n

-2 @PUILITETITSET :
@
4 b

@1 a
@) c

54. Qaripsrened LenflLTETIOOTS WHMID .
Slgar 2 ampliurarroars Csmfihsms
o pindeniaamernd seTLfliayLb.
(1 f "2 h

/@ b @ d

'd
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Directions (Q. No. 55 to 57) :

Among 5 friends A, B, C, D and E, A is shorter
than B, but taller than E. C is the tallest person and
D is shorter than B but taller than A.

55. © Whois in the middle according to their heights
in ascending order ?
(1) E @ D
3 B 4 A

56. The person(s) taller than A but shorter than
C. ' _
(1) B (?) BE
3) D,E 4) BD

57. After the arrangements based on their heights
in.ascending order, A and C interchange
their positions, then what is the present
position of C ?

(1) Middle

(2) Second from left
(3) Second from right
(4) Last

58. The various positions of a dice are shown in
the figure. If 2 is at the bottom of the dice,
then the number on the top is :

4 .
6

3
1

14

57.

auLfl(penm (eNlestn 6T6w8T 55 (PSEL 57 EUEMT) :

A, B, C, D wpgib E eremayid 5 pamLiisafie
A ereieuiT B -enw el 2 WD @Genmeumeneuit
<ermed E -enw eflL 2 wipwreneuir. C eremueurt
Hgea|b e wwremeur. D ereueum B -g el

2 WD GMmDeUrseld A -g el 2 WFrEe|b

2 eI, » -
55. e wrkiseflen goefleasiiug sl
 @mUiueui wimit ?
1) E D
3) B @ A

56. A-g el 2 wirorseyh C-g 6l 2wy
GSDODEUTHEYLD L_ETETeUT(&HET) :
1 B 2) B,E

3) D,E (‘ B,D

e wphsaflen goeflesiug A -ub,

C-y shsargy QLseos wrHHE

Qarerflemment erafler C -ao1 HCLTESIWI
Hlenev :

pHeflD

QLBmBg @rarrmoiLb

UL (HHE @umn_m.&L_LD

Qoduie

3)

(4)
58. &@ useLuler CeucuGeumy Hlanavser
uLgSled sriL il @dterear. UsemLUlen
g lussb 2 erafle, G uése;g,ﬁei)
© 66 6T e :

(1) 4

‘@

(4) 1



59.

60.

61.

62.

A is 2 years older than B who is twice as old
as C. If the total of the ages of A, Band C is
27, then how old is B ?

1 10
3) 8

2 7
@ 9

In a meeting if 11 people shake hands with
each other once, then how many handshakes
will be there altogether ?

44
50

45
55

@)
®)

@
@

Pointing to a lady in a photograph, Santhi

‘ said, “Her son’s father is the son-in-law of

my mother”. How is Santhi related to that
lady ?

(1) Aunt
2
®)
(4)

Sister
Mother

Niece

I am facing East. I turn 100° in the clockwise
direction and then 145° in the anti-clockwise
direction. Which direction am I facing

now ?
(1) East (2) North-East
(3) North (4) South-West

59.

‘@
®)

60.

61.

@,
(3)

62.

15
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A erarueur B - &l @raw(® euwg
epdseur. Gogib B -6 euwg C eremu-
aufler euwengsliGumed @HLOLEISTGLD.
A, B, C g flu epauflan auwgseflen
Ga.(D&eD 27 eTanmled, B -6 UG eTeves ?
10 @ 7

8 4 9

em spHuler Curg 11 Cur
RHAeUTmEQETEHEUT 6 (WPpenD L (HILD
s GasdHs CQasrarSlerpeni ereafe,
QLTEFD THFMA D&GRESHEET
HEpb ?

(1) 44 (2)
3) 50

sThHd = LosLULGHAMmEGD @
QuenTenents STl “‘Seuafien waeflean
sHeng erengenl_ W Frudem HOEH6T’
eTevd SEMEDTT. B QU FThHES
eTevien 2 Mmae ?

(D) Ss@s
sCarsil
Sl

@) sCargreafer L&

prer G SHesow  Cprsd
BpsACear. pran sgaTrs SHasuldd
100° Hmw9, Qemeni 145° S4&TTSH
Hengd@ erdisdensufier HmbLSCper.
Bren HCUTE THES SHensenw Crrss
QmEHGpen ?
1) Hpss

(3) auLsE

L Sp&E

4) Gser CuwHE



[CODE |[VIII| I | 24 |

63.

64.

65.

66.

67.

Ravi walked 2 km West of his house and then
turned South covering 4 km. Finally if he
moved 3 km towards East and then again
1 km West, then how far is he from his initial
position ?

10 km
2 km

4 km
5km

1)
3)

)
4)

At 12 o’ clock the minute hand is pointing
East direction. At 4.30, which direction will
the hour hand point to ?

North-West B
South-West

South-East
South

(1)
3)

2)
- (4)

The angle between the hour hand and minute

hand when the time is 6.30 Hrs is

(1)
(3)

180°
15°

30°
OO

(2)
4)

‘Find the wrong number in the following series.

7, 28, 63, 124, 215, 342, 511
(1) 342 @)
3) 124 (4)

28
215

When the given words are arranged in
alphabetical order, the word which comes
second from the right is :

page, pagan, palisade, pageant, palace
(1) (2) Palisade
(3) (4) Pagan

Pageant
Palace

63.

64.

65.

¢

66.

67.

(1
©

16

redl erevucui Sem il g ell(mHgG CHG
Cprédl 2 .8 pL&flprr. oL Cer GapE
Hevsuledr HHwd 4 H.8 vwalsdpr.
@Qodwurs 3 .5 Hs&daib wHmb
BSawr@Gw 1 &..5 Copdlaid pLESpmi
aafler, sHCUTFH eur PFHINSS
@L 55N mbg ereucuerey Qgmeneeded

Qs ?
1) 10 .8 /@ 4 8.8
(3) 2&8.8 4) 540

FqsmyeHa Bl (paTeTTEnS) 12 wenfléE;
s Haogeomw Coradl o drearg erafle
4.30 weafl&E sysrrsder wenfl e
asSengenis Crrsdl @) mEELD?

1) e Gopg (2) Oger fipses
Cgenr CopEg (4) CsHG
wenfl 6.30 & QHEGLELTH wenf
wearafip@w,  Hubl  werellh@wd
QeruulL GsrewTd
(1) 180° @) 30°
15° @ o0°

Yemeupd Cgm_fed Feupmen ereirenemTd
SEHTL_HlWLIeLD.
7, 28, 63, 124, 215, 342, 511

(1) 342 /@

3) 124 @)

28
215

QETHSSILL(HETET UTTSNSHDET AST
aflemsliug euflensliuBgdHente, cuawg
LpSHO®mbE QramLreisrs e
TSNS :

page, pagan, palisade, pageant, palace

(2) Palisade

(4) Pagan

Pageant
Palace



68. In the expansion of (56)7°, the unit digit is :

6
4

3
2

e
(3)

?)
(4)

Direction (Q. No. 69 to 73) _
Choose the figure which is the continuation

69.
of the given three figures :
AO AO| ?
@) ) ®) 4)
s~ | = N
n [(O]© 7
@uOw| @ || @H
1) @) © @
o oOlv o|=> a]
71. ?
A < o o
ll <& o .|:1 U
e vt v|lo vw|ilo a

0 (2) N R )

17
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68. (56)7° eremenid erawmenfian efNMele
GOLOW|LD GRETDITLD B)6V&HE GTewT
'd 6 2 3
G) 4 @ 2

euflpemp (eSlesTm 6T6T8T 69 (PG 73 6uemY) :
69. Oar@&suulL epearm ULBISMETS
QsrLipgy eurCaamgqu ULSDHSS

CoibOgHEEaLD :

a0 @ (0O 2
BB
(1) /@ 3) @)
/ = N
n [O]© ?
@O @) || @
PONEINEIG
o g|v ol=> A
- ?
71.. A < D o !
x u|[o o ¢ Vllo ¥
e vt v|lo v|]lo a
v o @ e
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72.

73.

N i; +i>< ?

) @) () @
a2leesli3ee| 2
£23||35¢|135€|€83

9

(2)

©)

(4)

72.

| 73.

A

:

v
O

3

3

|3

O

o

€3

(1)

e

o (

Direction (Q. No. 74 to 77) mgﬁ](y)mg‘) (éﬂsﬂn 616501 74 (LpS6L 77 euemn) :

74. 74.

There is some relationship between the first
two figures. Find the other one from the

options having similar relationship.

PSS @Qrerh UL BEISESEE0 et ufd
FCs@ID @ QgTLiy o drengl. HCH
Qgruimden oglinienudd Qar@ssi-
ule  urmisafldl@mbg  SMEULL.
panons CibesGssaD.

oollool. ol , ocollool|.l ol ,

—_ oo_() (X O_ . . [ OO___Q oo O_ . .
ol| oo||l L || oo ol| ool|

o ||loo ||o_ ||oo o ||oo ||o_

—~
W
~—

3)

18



Iimi
0By

Al

75.

=]

I:A

76. 3 :: ?
YVA||AAV|IAAY| R AY
=3 || = = || &=
1 @ 0 4
o| 16 | 9 y No|
7. © ::O . ?
| [oT | [ ] d 0
| /O ZO IR VYR
. y ©o o
M (4 3) (4)

Direction (Q. No. 78 to 80)
78. Choose the part which completes the given
figure :

m© ® @

.. |CODE|vHI| I |24 |

75. @]Zl@;;ﬁl: 7
E?QEEH Elﬁﬁﬂ
o) v 3) /-
76. ézéDgDA::A )
D w
S| [T 9_p7,
CEER T

(1) (2)

o
o
g
aufl(penn (eSlestm 61688t 78 (pSH6L 80 euem) :
78. Gasr®&sLLL{H6rer LI_SSlenar p(penLo
wrg@h ugHullears CoibosHEéseab:

(C

19
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79.
(1) ) 3) (4)
®/ ?
80. ®\ /®
SR
(1) (2) @)

(4)

Direction (Q. No. 81 and 82)

81. Select the mirror image for the following : |

W7/ 7/71777717/77777/4

(1) @) () @)
v | & }

SRS

@ 3) 4)

-82.

79.
("% 2) 3 @
®/ ?
80. [ NG
%) N
N N N 2
&y /@ 3) @

aufl(wemp (eflewtm eTevor 81 LHOMHILD 82) :
81. Yeneu(heuaeuDidle SewtenTmy. LADLISMSS
Caiibos[H&se D :

W77 7/77777/7777/77/4

(1)

4.5\

)

B
&85\

1)

20
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Direction (Q. No. 83 and 84)
83.

84.

Find the water image of the given figure.

(1)

X N
@
@ e | ® =
X A0 X[ X NI|X 4

1)

(2)

Direction (Q. No. 85 to 89) :

86.

Find the odd one out :

3)

(4)

ey 2 3 @
A7\ 64 125 | @
ey @ ©) @)

21
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eufl(penm (eNevtm e16vwT 83 LOHMULD 84) :
83. Gsr®ssiulL  uLgdHenr sawen i
Hibugenss CsrbOgHESD :

,

(1)

® o

X N

84. Q
@ || ® o e
X A0 X||X N

(1) 2)

3/@

euLfl(wpemm (eSlestn eT6zoT 85 (LpSEL 89 6UEMY) :
85. QunmbaTs atemns CoibosHESML :

(1) )

6. A 64

(1) (2) 3)

=)
)

125
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87.

88.

89,

90.

i)

(O3

I)

' @

Y,

000

(o]ole]

>

e]e]e)

(1)

(2)

)

*

®

(1)

figure (X) is embedded in one of them. Choose

2)

the correct figure :

A

X)

G

)

Among the four complex figures, the given

1)

(2)

-00o0-

3)

22

87.

88.

89.

90.

=||II) @ («
1) @) (&)
811<D|18D G>

)

*

© -

Qaer@&s&slul_Hdrer

(4)

©)

ULLDTEg

(X)

Qemeu@mbd pren@ Hasomear UL Bisaie
FCs@Ib @@ aumsule e ULSHo
udesuuL(Hetergl. Anss Csirs.

-00o0-
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